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Part A: ocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of ----——-—- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a --------— to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the -~~-ve=nn of senescence, which will cause a decline in the
ability of individuals to survive,
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ----e-ee- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent
intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) -=-=smsn-- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
(14) ---=------ major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension
Directions: Read the following two passages and decide which choice (1), (2),

(3), or (4) best fits each space. Then mark the correct choice on your answer
sheet.

Passage 1:

A truck carrying sodium cyanide spilt some of its load into a river after hitting another vehicle.
The mining company responded effectively, but not before widespread panic had developed
among the local population. As a consequence, the company reviewed, improved and tested its
emergency response plans, particularly in relation to hazardous materials transportation. It also
participated in a technical cooperation project to facilitate dialogue and information sharing
between the company, key community and NGO groups, local and national authorities,
international finance institutions and other interested parties.

According to the above passage:

1) Local people were prepared for the accident.

2) The company did not respond to the accident in time.

3) The company did not have any plan for the accident in advance.

4) The truck unloaded the sodium cyanide into the river as a regular practice.

According to the above passage: “participate” means:

1) affiliate 2) anticipate 3) precipitate 4) take part
Which sentence is true according to the above passage?

1) The company did react to the accident effectively.

2) Generally, emergency response plan must be developed only by NGO groups.

3) The company did not have any emergency response plan until the accident happened.
4) Hazardous materials transportation was addressed properly in the emergency response plan.
According to the above passage: “NGO” means:

1) Nuclear Group Office 2) Non Profit Organization

3) Non Governmental Organization 4) Nitrite Group Compounds

Which sentence is false according to the above passage?

1) People were well prepared for such an accident.

2) The emergency response plan was updated after the accident.

3) The chemical materials were accidently resealed into the river.

4) People were not relaxed at the time of accident even though the company had an emergency
response plan for such an accident.

“If’ as used in the above passage on line “4” refers to ....

1) company 2) hazardous material 3) transportation 4) emergency plan
According to the above passage “information sharing” means:

1) Storing information for future use.

2) Sending information to someone else.

3) Receiving information from someone else.

4) Exchanging information between two or more than two people.

According to the passage “panic” means:

1) assurance 2) epidemic 3) fearfulness 4) pandemic
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According to the passage “mining” means:

1) Drilling the ground to find water

2) Process of producing chemical compounds.

3) The process of transportation of hazardous materials.

4) Excavation of materials from the Earth's crust, such as coal and petroleum.
According to the passage “facilitate” means:

1) retard 2) loosen 3) complicate 4) sophisticate

Passage 2:

Disasters create difficulties, even for those who study disasters. Much of that difficulty stems
from the necessity to deal with concepts, which have popular meanings, and some of those
meanings evoke moral and emotional reactions. Conceptual discussions about disaster related
activities could evoke charges that researchers miss the point. Also, interest in disasters cuts
across disciplinary lines so that one’s own disciplinary interests are considered critical while
the interests of others are interesting but marginal.

26- According to the passage:

28-

29-

30-

1) The more someone knows about disaster, the less faces difficult situations.

2) Only specific meanings of the concepts may inspire moral and emotional reactions.

3) Challenging situations occur only for people who do not know anything about disasters.

4) Conceptual discussions about disaster related activities may mislead researchers in
understanding the main point.

According to the passage, “evoke” means;

1) miss 2) overlook 3) inspire 4) pass over
According to the passage, “Conceptual” means;

1) palpable 2) theoretical 3) material 4) detectable
According to the passage,” charge” means:

1) accuse 2) appeal 3) petition 4) propose
According to the passage,”_cuts across” means:

1) Making a short cut 2) to cross a line

3) to reach beyond something 4) To separate something into two slices
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